
Features a b c d e

TV 5.70× 10−8 - - - -
Web - 1.42× 10−8 - - -

TV, Web 4.15× 10−8 4.48× 10−9 - - -
TV, m(TV) 7.93× 10−8 - - −1.27× 10−8 -

Web, m(Web) - 2.23× 10−8 −4.06× 10−9 - -
TV, Web, m(TV) 6.15× 10−8 5.41× 10−9 - 5.41× 10−9 -

TV, Web, m(Web) 4.61× 10−8 1.23× 10−8 −4.49× 10−9 - -
TV, Web, m(TV), m(Web) 4.59× 10−8 1.24× 10−8 −4.51× 10−9 1.18× 10−10 -

TV, Web, m(TV), m(Web), state_news 4.61× 10−8 1.20× 10−8 −4.55× 10−8 2.19× 10−10 1.05× 10−8

Table S6: Parameters of the best fitted models for all selected features. The table reports
the values of the fitted coefficients for the best models and the corresponding features. The full
model with all the 5 features under consideration takes the following form: P̂ V s(w) = a ·TV(w) +
b ·Web(w) + c ·m(Web) + d ·m(TV) + e ·Webstate(w).


